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b4 What are all values of x for which the function f defined by f(x) = (x2 - 3)6” is

increasing? 2w ""?‘«} =~ ;“[ ! )
FIEQ= (-3 -e 7 )+ e AHK

(A) There are no such values of x.

(B) x<-land x>3 -—X( . e o) \>: O

€ -3<x<l c " ?; ;\X

Patviv —e*(x*-ax-3) =0
@‘02— A g = (% =3)x+D=0
: | ) 7/
X "" 3 |4-x2‘
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. e
FOO=x-d(x=2)> 9)
(%)= X3-¢x* 121X -8
{(0=3%*-16x421 - D: _
0=3%"-16x+21 ‘\;rclaHM ¥ A
Gx-N(x-3)=0 | ™ 8
1/3 k3 | *° 1/3__4
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One relarive max at x=-3
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10. If gisa differentiable function such that g(x) < Ofor all real numbers x and if

f(x)= (x2 —4)g(x) , which of the following is true?
[livelies
(A) fhas a relative maximum at x=-2 and a relative minimum at x=2

7

f / has a relative minimum at x=-2 and a relative maximum at x=2
(C) [ has relative minima at x=-2 and at x=2

(D) f has relative maxima at x=-2 and at x=2

(E) It cannot be determined if f has any relative extrema

' = = O q(x)=0

0
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